
Quiz 10 Math-1150-es32 2011 October 26

1 Given
f(x) = 4x + 2,

�nd a formula for the inverse of f . Show at least what equation you solve to �nd this, as well as your �-
nal answer.
I set f(x) = y and solve for x to �nd f−1(y):

f(x) = y;
4x + 2 = y;

4x = y − 2;

x =
1
4
y − 1

2
;

f−1(y) =
1
4
y − 1

2
.

2 Suppose that f is a one-to-one function, the domain of f is [5,∞), and the range of f is [−2,∞). State
the domain and range of f−1 (indicating which is which).
Simply swap them:

dom f−1 = [−2,∞),
ran f−1 = [5,∞).
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